
4.72 x 0.01 = 3.6 x 0.01 = 0.95 x 0.01 =

81.4 x 0.01 = 0.094 x 0.01 = 0.94 x 0.01 =

54.25 x 0.01 = 94.03 x 0.01 = 2.6 x 0.01 =

0.4 x 0.01 = 0.64 x 0.01 = 6.51 x 0.01 =

0.69 x 0.01 = 0.05 x 0.01 = 0.661 x 0.01 =

45.9 x 0.01 = 26.1 x 0.01 = 0.01 x 0.01 =

0.007 x 0.01 = 3.4 x 0.01 = 0.577 x 0.01 =

2.65 x 0.01 = 0.63 x 0.01 = 0.333 x 0.01 =

2.478 x 0.01 = 0.287 x 0.01 = 676.8 x 0.01 =

2.05 x 0.01 = 6.157 x 0.01 = 0.834 x 0.01 =

0.2 x 0.01 = 0.39 x 0.01 = 76 x 0.01 =

0.4 x 0.01 = 0.47 x 0.01 = 0.9 x 0.01 =

117.8 x 0.01 = 0.08 x 0.01 = 7.45 x 0.01 =

0.034 x 0.01 = 11.8 x 0.01 = 0.005 x 0.01 =

3.77 x 0.01 = 0.25 x 0.01 = 0.798 x 0.01 =
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4.72 x 0.01 = 0.0472 3.6 x 0.01 = 0.036 0.95 x 0.01 = 0.0095

81.4 x 0.01 = 0.814 0.094 x 0.01 = 0.00094 0.94 x 0.01 = 0.0094

54.25 x 0.01 = 0.5425 94.03 x 0.01 = 0.9403 2.6 x 0.01 = 0.026

0.4 x 0.01 = 0.004 0.64 x 0.01 = 0.0064 6.51 x 0.01 = 0.0651

0.69 x 0.01 = 0.0069 0.05 x 0.01 = 0.0005 0.661 x 0.01 = 0.00661

45.9 x 0.01 = 0.459 26.1 x 0.01 = 0.261 0.01 x 0.01 = 0.0001

0.007 x 0.01 = 0.00007 3.4 x 0.01 = 0.034 0.577 x 0.01 = 0.00577

2.65 x 0.01 = 0.0265 0.63 x 0.01 = 0.0063 0.333 x 0.01 = 0.00333

2.478 x 0.01 = 0.02478 0.287 x 0.01 = 0.00287 676.8 x 0.01 = 6.768

2.05 x 0.01 = 0.0205 6.157 x 0.01 = 0.06157 0.834 x 0.01 = 0.00834

0.2 x 0.01 = 0.002 0.39 x 0.01 = 0.0039 76 x 0.01 = 0.76

0.4 x 0.01 = 0.004 0.47 x 0.01 = 0.0047 0.9 x 0.01 = 0.009

117.8 x 0.01 = 1.178 0.08 x 0.01 = 0.0008 7.45 x 0.01 = 0.0745

0.034 x 0.01 = 0.00034 11.8 x 0.01 = 0.118 0.005 x 0.01 = 0.00005

3.77 x 0.01 = 0.0377 0.25 x 0.01 = 0.0025 0.798 x 0.01 = 0.00798
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